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The solution set is { b é +6 =0 OK 6 4 z/«
(Simplify your answer. Use a comma to separate answers as needed.)
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Answer: - 6,9 - o ["*13\
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The solution set is . / )Zi
{Simplify your answer. Type an tega ra snmphf ied fraction. Use a comma to sepamte swers asneeded.)
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Answer. T 22 / —1( - ! =
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(Simplify your answer. Type an exact answer, using radicals as needed.)
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Find the distance d (P1, PZ) between the given points P4 mjw ( é’
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4. Find the midpoint of the line segment joining the points P, and P,.
P1=(4, =3);P,=(6,5)

The midpoint of the line segment joining the points P, and P, is

(Simplify your answer. Type an ordered pair.) ( 6

Answer: (5,1) ((/ . } )
.3/' V) ' )(’L L?’L_.__
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For the equation X2+ y2 = 2x =4y - 31=0, do the following.

(a) Find the center (h,k) and radius r of the circle.
(b) Graph the circle.
(c) Find the intercepts, if any.

(a) The center is
(Type an ordered pair.)

The radius is r=

(b) Use the graphing tool to graph the circle.

(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The intercept(s) is/are
(Type an ordered pair. Use a comma to
separate answers as needed. Type
exact answers for each coordinate, usmg
radicals as needed.) )(

—L X

O B. There is no intercept.

Answers6 2_ LX +(_{) s )
'—*Z)( -+ ( - p ")
G’*’/) (x—1)

5

.8

=10

)(+7

—ox = (L) St «)
&(7(/2 t] ‘fj-f//
——V7 +( 5 31 (U
=

'““O‘U(/“u = 36

)/ I
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==
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—x— %Y - 30

¢ C() <31 rewak

€ 3] #~/L(*C)) *( L 9
S (o)t

_'3./ —+ | +Y

—+Y =

L - 2¢

Q('f ) r/) |
KC&—’WC’/L =(1, 2) —
7(1/(“45’5(/5'624

A. The intercept(s) isfare (1-442,0),(1+442,0),(0,2-435),(0,2+435) .

(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each coordinate,

using radicals as needed.)

ID: F.4.27
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6. Find the domain of the function.

f(x) = 4/3x - 27

The domain is . (Type your answer in interval notation.)
Answer: [9,00)

ID: 1.1.59
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7. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
s, % k
f(x)=5x+1;g(x)=3x-7 ( - rj);;/} 2

(a) Find (f + g)(x). | A4 "?" j)(r’) E l 7 =
rg —f (j/(— /) =3 ( |l;""7(f~\‘ I|
(f+g)(x)= (Si él:fy your answer) /)( }/ )
St | —+3IX~ ) = &

What is the domain of f + g? Select the_corre;:mhmp__b_elow and, |f negessary, fill in the-answer box to complete your

choice. ( y )( G v

() A. The domain is {x }.
(Use integers or fractions for any nqmbers in the expression. Use a comma to separate
answers as needed.) £ — ) 7 3() -

(.7 B. The domain is {x| x is any real number}, 5/<<’} ___);(} % e
T

() Findi(F= gl (5;,‘(.,// = I =TS ( l0 - @ N
(f-g)(x)= (Sfrnplaf'g; y:;.lrral}swi ) /( /“ kil — '9() 0 ) j

choice.

2 A. The domain is {x
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) o~ )/ /) _ —
) B. The domain is {x| x is any real number} / \
;(" 0/(/‘(} (1();"’1CL~\ N

(c) Find (f+ g)(x).
see J30=7) <
(Fra)(x) = (SimplifyCoEransS.'ér) ( ( ’)/ (¥ )

— 35X 3¢ (
What is the domain of f - g? Select the corre ch0|ce below and, if necessary, fill in the ins@gr,bcito complete your chonce

7 A. The domain is {Xl Q}ix o 12 S 7=-‘ -/<L/+ 3/(”’ 7 — O

(Use integers or fractions for any numbers in the expression, Use a comma to s;garata C) “ 7
answers as needed.) P 2= C

' B. The domain is {x| x is any real number} ""')/S/ ) = 3]( = ]

PP + 7

D G

\

f
(d) Find [5] (x).

LY
g|®=
k/)/)7 [ “_,3

f iy
What is the domain of E’? Select the correct choace below and, if necessary, fill in the answer box to complete your choice.

o) = TxX— 6
" A. The domain is {x| ¥ fﬁ/ (¢) & j/? ) — 6

(Use integers or fractions for any num rs in the ex ressmn Use a comma separate

answers as needed.) / fj) = LL ’
zf/)/z) =7 " e

(! B. The domain is {x| x is any real ptmbe

(e) Find (f+g)(2).

50f48 o B S —1/16/2020, 4:01 PM
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(f+9)2) = (Type an integer or a simplified fractio ![ j)/)gj Z/’(’_f Y
/ “o)(r)= L[+ §
(f) Find (f— g)(4).
rg" —§) ( )< Y "(' ¥

NJ{;/
(9) Find (- g)(3). J) (%) / 6 .

(f+9)(3)= (Type an integer or a simplified fractlon)g/j/()ﬁ /S% ,_,3( X 7
(h) Find (é](n. _ ([ 3) /S /3) —3¢ [3)— /
(#« //(3) = 3 N3) =37

f
(E] 1= (Type an mteger r a simplified fraction.)

e5)(3) = f5(F) ~3e (37

Answers 8x — 6 // ,L)#[J )__ _C ?7_)__ __ {é ;/7
B. The domain is {x| x is any realfumb f} 7) (73 ) 3 2 1' >

(f-g)4)= (Type an integer or a simplifi

2x+8
- ) S )( &
B. The domain is {x| x is any real number}. ) —
) By - 7
15x™ -32x -7 _/

B. The domain is {x] X is any real number}. /~ ) ( ’ 3 ( ) ) ’1 /
5x + 1 3( l ) 7

3x -

} ) N = Y
A. The domain is {xl x#— ( “ = .~ 7

(Use integers or fractions for any numbers in the expressmn Use a comma to separate answers as needed.)
10
16
32

N w

ID: 1.1.67
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8. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x) = x - 6; g(x) = 5x° (/ 7‘7/ 5 <
Fed + 6D =
(e )+ (5% )=
Simplify your answer.)
— ~F 5 =

What is the domain of f+ g? Select the correct choice below and, if necess

choice. m o

(a) Find (f + g)(x).

f+9)(x) =

__--""'_’
O A. The domain is {x| }. .f- /gg{) rd
(Use integers or fractions for any num ‘in theé'expression. Use a comma to separate
answers as needed.) r{,}{,/ U (y{) -
O B. The domain is {x| x is any real number}. (X~ ) — (f’)l l) - . 2
o m
(b) Find (F~ g)(x). X—(—~ $vlt = SIL “

(f-g)(x) = (Simplify your ansWer) —% > Lv‘_.v"—g e ,_(; /)J)

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answ baxi&mmpiéie-your

choice. ( [ g /bd —
OA. The domain is {x| . /ﬁ e ) ,6() = = RN
(Use integers or fractions for any numbers in the expression. Use a comma to-Separate SN e~ \
answers as needed.) s & (‘ S _,/p %
(= )($x*) - (—2, v

() B. The domain is {x| x is any real number}. — =
- — 20X ¢ 7\5
(©) Find (f+ g)(x). X 3

(fe@)(x) = (Simplify your answer.) (i—:)()(/ = w S')(

What is the domain of f- g? Select the correct choice below a‘%d if necessary, illin the answer box to complete your choice.,
— )(/L -

£ ’j — L_, - a/

O A. The domain is {x| } -"'"_'_" - - S

5
(Use integers or fractions for any numbers in the e{pres“éion Use comma to separate : L
answers as needed.) /

B. The domain is {x| x is any real number}.
f
(@ Find | (0.

f
{5] (x)= (Simplify your answer.)

What is the domain of —? Select the correct choice below and, if necessary fill in the answer box to complete your choice.

7/1—5 /X = X Sev—¢
A. The domain is {x , r?(r = f'{3) R ﬁ/ 6

(Use integers or fractions for any nu bgrs i expression Use a comma to separate

answers as needed.) 7,//[7) z $13)N%) + (3 — €
B. The domain is {x| x is any real nuz—erp}})f ?/ - é‘) +] ¢
(e) Find (f+)(3). ¢ \ A
( Fri)l3) = 2 -
/’/

7of48 ——caee R t6/2020;4:01 PM
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(f+9)(3)= (Type an integer or a simplified fraction,) (-'K" j//}(} = =SX L—(‘— l(p__ C
(9 Find (f- g)(4). — ) =~ )¢ ) — e
(f-g)4)= (Type an integer or a s:mptifegrachoﬂ// / / -3‘(9‘)/9/ —f /‘//——é

Q) c —¥0 "f’\)?~e

iy g ———m— "/cf___,..-:-'—\,
(feg)2=_ (Typeanintegerora ‘tedfra} on)(f)c/ 7&

Feg)sd e s5¢ 7~ ’%JL

e 9 ()= (V) —30(0)t (
(éJm:___(Typeanmt erorgznpgﬁed%acﬁans(éf)(l)[i) -— %o( Z) 7)

(9) Find (f- g)(2).

C(f
(h) Find (g]m).

Answers 5x2 +x—6
B. The domain is {x| x is an
- 5x2 +x-6

B. The domain is {x| x is any real number}.

5x> - 30x2 (é) / y
B. The domain is {x[ x is any real number}/
x-6 .
5x2 (7)( l
A. The domain is {x| x#0 ).

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

42
-82
-80
-1
ID: 1.1.69 - S
% f<x+h) f(x)
Find the difference quotient of f; that is, find ———— h#0, for th%followmg function. Be sure to simplify.
a4 )= ( = ({)(_:f_f}} z
f(x)=x2-4x+9 (({7‘4) (/(/(’f'/?//))-f | ) )(
f(x + h) - f(x) 4/ — G ,. — X _fg;)( ‘7 i
teeh-) () (h) =y —4h

v
ID: 1.1.83 /+Z;(Z4ﬂ~/| -—‘f//-—vl» 4/‘1/% ~(5u/-- (‘//:

h_‘ﬁ_hq
Wh +h"=h 4y o h 2;( b~y
1/16!2020.’4‘.0%&1 )

Answer: 2x+h - 4 X“(’l)(t\—(")(t\-—kh —’L/)( (-//\ —f‘l’ ""Y —f (f')(/‘_"? —

/,) —h £ A

8 of 4§
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10. Determine whether the graph on the right is that of a function by using the vertical-line ()//‘, 2N
test. If it is, use the graph to find the following. b

{ ,_5-‘*}
(a) the domain and range o
(b) the intercepts, if any (=L
(c) any symmetry with respect to the x-axis, y-axis, or the origin g’_' {

Does the graph represent a function? Choose the correct answer below.

A. No, the graph is not a function because a vertical line x = — 4 intersects the graph at two
points.

B. No, the graph is not a function because a vertical line x= — 4 intersects the graph at only one
point.

C. Yes, the graph is a function because every vertical line intersects the graph in more than one
pomt

VfD Yes the graph is a function because every vertlcal line intersects the graph in at most one Sy
__paint. B — == e

(a) What are tte doma?n ard’ range of the function? Sele the correct choice below and, if necessary, fill in the answer
4

box(es) to compléte your choice; (l ¢ A A (1 U ) > )
= = g é _-’)U;_ ¢ - 1/
YA Tng domai_'_'_",is /‘f) C.) . The(fange is ( vy )

(Typeyour answers in interval notation. Use integers or fractions for any numbers in the
expressions.)

/

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

r rd e
TA. Th{ntercept(s} is/are ( '“/ v )
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

C. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.

[[} A. The graph is symmetric with respect to the y-axis.
[ ] B. The graph is symmetric with respect to the origin.
[] €. The graph is symmetric wuth respect to the x-axis.

K. "f D. The raph has no symmetry.
[[] E. The graphis not that of a functlon.

9 of 48 1/16/2020, 4:01 PM
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Answers D. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (-5,0) . Therange is (= 00,4)
(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)

A. The intercept(s) is/are (=1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19
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11.
Determine whether the graph is that of a function by using 'l«)
b

the vertical-line test. If it is, use the graph to find 4_4 ' V)

(a) its domain and range. ; (22 o @2 _, ).

(b) the intercepts, if any. (**3/ o)

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

fé

Is the graph that of a function?

If the graph is that of a function, what are the domain and rarbge of the function? Select the correct choice below and fill in

[
any answer boxes.wnhm your choice. [f “f ( | 154 l . @uﬂ)nq I " w J
A. Thq;a'éméi'n is (— 29, ). Theangelis 2-7
(Typeyour answers in mterval notation’)
(O B. The graph is not a function.

What are tha(lmercepts‘? Select the correct cpoice below and fill in any answer boxes within your choice.
" A J ,( “jyn WA EL,) ) [ . ’(
-—n v/ }}- B P2 ‘/,/

( > ( (3,» JJ ( “J 2)
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.
() €. The graph is not a function.

Determine if the graph is symmetrical.

( ] A It is symmetrical with respect to the y-axis. -' =
) B. Itis symmetrical with respect to the origin.
C. It is symmetrical with respect to the x-axis.
D. The graph is not symmetrical.
E

. The graph is not a function.

Answers Yes

A. The domainis (—o0,00) .Therangeis (= 00,2] .(Type your answers in interval notation.)

A. (3,0),( - 3,0),(0,2) (Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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12.  Using the given graph of the function f, find the following.

ol (5%

(b) its domain and range
(c) the intervals on which it is increasing, decreasing, or constant )
(d) whether it is even, odd, or neither : j

)2
(47 - (4 7
'I-l!_(— ol /7“”4 € €
(a) What ?re{tri @@?p:??‘ Loe? ! oA k Qo EL //‘-/(m‘e(‘ [;:[ / CI& ?’(

(a) the intercepts, if any n))
o %«3}

'_i"\'

\.7
g —{), ¢) (i Jd) (cv/ ( ) v mZ IGQC,uwj I win ‘“’J{
( Implfyyour answer. Type an ordered pair. Use a comma to separate answers as eded) i f
— ('U v
(b) Thedomajnis (=3 ,3] & Z Jeca, ’)/’(J\ (+h e+ Soc ’/f'k e

(Type l,ruur answer in interval notatnon )

- = é 0 4 ,;? 1
Th rang_e_ls } [' 2 g £ — 9 //r.;, Yy o
(Type your answer indnterval notation.) ‘

(¢) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes W|th|n your
choice.

sy [ -1y8y (2, 37
O A. The graplﬁgincrea;?rﬁon [ // ¢ L /
(Type your answer in interval notation. Use a comma to separate answers as needed.)
(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

— ,
O A. The graph sdecreasmg on ('—' S I] {‘(, e j

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

( G‘B The graph is not constant on any / interval. v

(d) The function is (1)

1 odd.
Qeven 0N
T /
) neither odd nor even. -

e

12 0f 48 1/16/2020, 4:01 PM
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Answers (- 1,0),(2,0),(0,1)
[-3.3]
[0,3]

A. The graph is increasing on  [-1,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,~-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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13. Using the given graph of the function f, find the following. Q‘:lj G) Ay
J 114

(a) the intercepts, if any

(b) its domain and range (0.6)

(c) the intervals on which it is increasing, decreasing, or constant . A
H

(d) whether it is even, odd, or neither

—

(a) What are th ntercepts‘? ! j
{in 4

? il
o081

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b) Th(domaln is :< AR a2 / [ a— (/,//) V1AL
(Type your answer in interval notation. Round to the n fmst integer as needed.)

Ui oy e L , 702 )
Théangeis (j / (f/’) ¢ / ™y 70 4
(Type your answer in interval notation. Round to the nearest integer as needed.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice

g -‘ The graph t@;;asrng on (( )‘/ (< "

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. There is no interval on which the graph is increasing.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph(/ decreasmg on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

___,___~———-—————— —
E é There is no interval on which the graph is decreasing. ~

—— o

.

On which interval(s) is the graph constant? Select the correct chouce below and fill in any answer boxes within your
choice.

A. The graph is constant on .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

— - — e

Q/B There is no mterval on whlch the graph is constant.

_—
(d) The functionis (1)

P

S~£_(1) & neither even nor odd. \
odd.
even,

14 of 48 1/16/2020, 4:01 PM
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Answers (0,6)
(= 00,00)
(5,00)

A. The graph is increasingon . (- 00,00)
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. There is no interval on which the graph is decreasing.
B. There is no interval on which the graph is constant.

(1) neither even nor odd.

ID: 1.3.27
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14. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

(a) What are tﬁe mteri;;i " [ /” /( ‘,_.;,-/_/ 2
(.l ) IWL‘ */'l( )

(Simp !fy your answer Type an ordered pair. Use a comma to separate answers as needed.)

(b) Th dcmalms E*" . Jé’— [/-"‘/(/ 4o .(
in int

(Type youf answer erval notatlon ) -(

The geas i | "éﬂfﬂ__ﬁﬁﬁ[ 2 /fl "/ i
(Typ your answer in i terval notaﬂon]

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

— [, 3)
“TA. The graph @\increasin_g_.hn 2 ) 3 :
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The graph is not increasing on any interval,

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

“A. The graph |{dé;r;a;ingon [Z-// /1

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.
On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.
YA. The graph fé:c_:qgstant' oh (— 5/ ~ | ] Z:—// 2 1
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(d) The functionis (1)

e TV ™ —
C_(1) &7 neither odd nor even.
[ even.
odd.
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5
Answers (0,0), [50]

[-3.3]
[-1.2]

A. The graph is increasing on [2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-1.1]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is constanton [-3,-1],[1,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(1) neither odd nor even.

ID: 1.3.31
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17 ) '4’] i A )
15. For the graph of a function y = f(x) shown to the right, find the absolute maximum Ay & 21 S
and the absolute minimum, if they exist. Identify any local maxima or local minima. (3.5)
(1,¢)

o) @
o N 74)

b > (12)

JH‘ L} | :
(l!

v >

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

L/A {he absolute maximum of y = f(x) is f( 3 ) = ) 6){— ( 5
(Tybe integers or simplified fractions.) // ; 4
\1 i
(O B. There is no absolute maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A The absolute minimum of y = (x) is f( l ) = < (// {
(Type integers or simplified fractions.) Y. I

B. There is no absolute minimum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. )

(A, The local maximum of y = f(x) isf( 3 ]= 5 . ‘i / /

(Type integers or simplified fractions.) /,’L =

B. The local maxima of y = f(x) are f( ) = and

f( )=

(Use ascending order with respect to X. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

“IA, The local minimum of y = f(x) is f( [ ) = Z . L /
(Type integers or simplified fractions.) // ! oy f
[ ) =
B.  The local minima of y = f(x) are f( J = and

f( )=

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).
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Answers A. The absolute maximum of y =f(x) is f ( 3 ) = 5 .(Type integers or simplified fractions.)
A. The absolute minimum of y =f(x) is f(y 1 D = 2 (Type integers or simplified fractions.)
A. The local maximum of y =f(x) is f ( 3 ) = 5 .(Type integers or simplified fractions.)
A. The local minimum of y =f(x) is f( 1 ) = 2 .(Type integers or simplified fractions.)

ID: 1.3.51
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16. The function f is defined as follows.

-3x+4 ifx<1
f(x) =
2x-1 if x=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

B} € (Je, rishs)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A The{nter_c;’:gtfsl isfare 0 ¢ )

(Typ ‘ordered pair. Use'a comma to separate answers as needed.)
(O B. There are no intercepts.

.—‘/_ -\_I‘
(@ Tr@ do;ma/im of the function f is _
(Type your answer in interval notation.)

(c) Choose the correct graph below.

5 A. e O B.

(d) The raﬁge of the function f is ) é’—*‘ Zéd f/! b ]l_l ﬂ)

(Type your answer in interval notation. )

Answers (— c0,00)

=N E — ——
A. Thesintercept(s lisfare 0,4 ; oy
intercept(s)is/are (04) ‘ x._}_@
(Type an ordered pair. Use a comma to separate answers as, néeded ) c 4 , /-. (1 ) N
- / ' |
(A_.. ) o’/du» \/l $A :

¢ [Cu(u

[1.00)

ID: 1.4.33 -
(A]"?%”‘ C et

— - —— “ \

X-+Y 0 /{ ) ’2(/14 }

(Yz1) Cloe Cureh,

4
S
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17. The function f is defined as follows.

2+x ifx<0
=g ,
X if x>0

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@) Th@aln of the function fis (— AW / & /A’» el )4 />

(Type your answer in interval notation. )

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

—p L) A leaqg7l
P A T X~ n P74
) A. The(t_tefcepl(s) isfare ( ‘,/ ¢ ) (6 U ) 4 TFY (fﬂ()f /
(Type an ordered pair. Use a comma to separate answers as neéde

(O B. There are no intercepts.

e

(c) Choose the correct graph of f(x) below. / ;

dl) L

O A. O B. \/

7
(d) The | nge of the function f is f E} ;’_”/
(Type your answer in interval notation.)
Answers (— c0,00)

A. The intercept(s) is/fare | (—-2,0),(0,0) .

(Type an ordered pair. Use a comma to separate answers as needed.),~ : '
window \
1 m— - c ’ r "

J( M — T
W I X /L ’

\7’ }f,‘,,"] ~/>

(_ wlm)

}.h J”( [« /\) } _j
Za /)L B

ID: 1.4.37 o V) _ __)( = /___ )—7*}‘/&/—-:& ( e L
| p Thid
\12 — )/L ° [X->2—O) (/uJ( CJ/V(J

/
\
\
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18. The graph of a function fis illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) FO) =f(x) +4 (b) G(x) =f(x +2) (c) P(x) = = f(x) .
1 8 '

(d) H(x) = f(x +2) - 1 () Q) = () M g(x)=f(-x)

(@) h(x) =f(2x) =

(a) Choose the correct graph of F(x) = f(x) + 4 below.

O A. OB, N O ¢. O D.

(b) Choose the correct graph of (_3_(1)1[(5_+ 2) below.

O A ~ a‘_}?”é. \ Oc. OD.

—

(c) Choose the correct graph of P(x) =_—_f()’() below.

A. ) B. C. \
/:I
."/
(d) Choose the correct.graph of H(x) = f(x +2) - 1/bglow.-_ ‘
(’S}’, -r.'./ /-H' ( —L //"‘1 r‘(}ﬁl A CL‘/W “ ) 3
OA ~— 8B, W Qe -/ \
o Oyev s %

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

22 0f 48 1/16/2020, 4:01 PM
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(f) Choose the correct graph of g(x) = f(— x) below. _—
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Answers

ID: 1.5.63
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19.
(a) Graph f(x) = |x + 5| - 2 using transformations. A
(b) Find the area of the region bounded by f and the x-axis '0'_
that lies below the x-axis. 8-
6+

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

24
(b) The area of the region bounded by f and the x-axis that ]
lies below the x-axis is square units. —— i —
(Simplify your answer.) 10 -4 -6 =« -2 2‘
-4+
-6
-8+

Answers
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— ‘\'
Solve the follcwun uation using the quadratlc formula = Y > _ T ==
y=-() TV =Y () v) = ] ) 2T Vg
3X +X 4=0 ‘——2—(—__ G ' )
6\--5 _-)~— / E =% %) B _'t

The soll‘.’nt[on setis { }' -
(Type an exact answer, using radicals and i as needed. Use |ntegers or fractlons for any numbers in the expression, Use a
comma to separate answers as needed:) — Cf i S 'n( = —~—] o/ L |~ 7

——

Y="5" =) R

Answer: i - Gl
== ’ . Ci X< 6
— .".,_,N (‘ﬂ 7 )
ID: Quick Check P2.2.2 )( B Zj(_j 3 g A

21. (fmd the zeros, |f any, of the quadratlc function using the quadratic Sqrmula \What are the x-intercepts if an zv of the graph
7 Yl
of the function? i)z & _f_(,)(,f, { 5—1‘\,0 A ( —-&E* i,(é/ ‘//2)(|)
Z < 2.( ¢/ _
C e >ty Fe—§
Select the correct chou‘.!e below and) if necessary, fill in the answer box to complete your choice. ~
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use acomma to

f(x)=2x +1 +6x

separate answers as needed.) . “‘6 t‘ L . z_az
() A. The zeros and the x-intercepts are the same. They are _ ‘/

) The zeros and the x-intercepts are different. The zeros are , the x-intercept's—; '-'(? + {/ 7 7 .
7 B. <

. are }

6 Y& VT
&/
Vﬁ

"

C. There is no real zero solution and no x-intercept.

r

~3+47T -3-47
] 2 .

Answer: A. The zeros a d the-x-intercepts are the same. They are 2

= == (3 *l‘”_
/e “3"‘5':2 | +1v7 R ()

/ 2=

ID: 2.3.47

22. Findt al zeros of the function. What are the x-intercepts of the graph of the function?

—

g(x)=x-34/x - 54

Select the correct choice below and fill in the answer box to complete your choice.

A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
* are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are 81
Lk X —3VXx —Sy = (O
ID: 2.3.75

— sy < 3yX WA

26 of 48 1/16/2020, 4:01 PM



E_Lé/'l (=) = (GUR) S hdlsids
—s)(x=sv) = (3) W

X cyx—syx = 29/6 © G)13) ¢2)
ybo Jot X + 25/6 = G(xX)
X‘/UZ)X#Z‘?/(——— G 7~ = O
¢l —HTx+29/¢ 5 O

(7( — 3.7 Cs(-f——g’/) =13

{—36 o OF A= Fic o

X~ }6+36 TUTI6 04 ,(— /—r)’/’ti"f//
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(7(/—-3 6 =Sy T
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7= Sy :"O ﬁ/\’”)

-—36
/ 3(/"'——4“( =2
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23.

Graph the function f(x) = - X + 8x by starting with the graph

ofy= X2 and using transformations (shifting,
stretching/compressing, and/or reflecting).

Use the graphing tool to graph the function.
@Xhm;/éf Lilex Sthmw:,)
/e %[/{ OCPL;,. & A gﬁ#ww/{a’_\

.com/api/v1/print/math

/’) v'l:s »14/7 ead

/m %L‘( C‘M}

Nesht of 239 am lg 7wau%/
Oﬂ/ 'eﬁv/’ln Qa AQ(‘L({ /77(& )
&QLL( Chme AUQLL CCJdry
g
ﬁamb%tjl/ 5\/!/—4 Q ic
So Ao

Answe'w
39_.

ot

''''''

ID: 2.4.29 =
\7 pe -

Bt ) |
W~k T )
%.,/nna, ~/=
y/fwu( /2

st

v

/"//-.

K_‘/
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7~ “i}
CL A/
" For the quadratic function f(x) = X2 + 6x ~ 7, answer parts (a) - ’ o

20
through (c).

(a) Graph the quadratic function by determining whether its ,2_:
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any. a

Does the graph of f open up or down? 4

v

12 16 20

]
w

down -ztjl'-lé”-u' BI

up -
What are the coordinates of the vertex? 8_

The vertex of the parabola is B }

(Type an ordered pair. Use integers or fractions for any 161
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as N
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis .
(Type your answer in interval notation.)

The range of f is .
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)
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Answers up

(-3,-16)

x=-3

A. The x-intercept(s) is/are -7.1 e

A. The y-intercept is -7 '.(Type an integer or a decimal.)

OV’ SC.‘L\‘./ (a

Ay

"6-:

-
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25.

310f48

For the quadratic function f(x) = - 2x2 +2x - 5, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

| AL LR |
The vertex of fis
(Type an ordered pair.)

The axis of symmetry is
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

(O B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

10 B8 6
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(1) O up.
() down,

Answers (1) down.

-3

X=

N |-

A. The y-intercept is -5

B. There is no x-intercept.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

_':.(Type an integer or a decimal.)

320f48
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P —-'P\ .
26. DetennineQJi_th/ong:aphjnq;-’whemer the given quadratic function has ma!ue or a minimum value and then find
the value. / S Jg‘n IR ST _/«'../l P Owen | hag é))(,{

df’(‘.x)ﬂ=_s-3x¢t_2:);1c . by Sy = *;‘!J/ //(/_' /) Kg/“/ f(g(“/))

5
Does the q{ladratic function f have a minimum value or a maximum value? )
1/ t" f'L( /\ - _— z L‘f ,/

(") The function f has a maximum value. s s (, i - /

= ((/ /((/))
'**/7 ~3(4) "¢ vy () “‘)
(Simplify your answer.) L/(’ /'fo" ..._(9 = j/(///l{/ “t iy /Y/ /
Answers The function f{h/asa a)nzxrn value.. ( P, / —lf 7 q*( ( ) A7 Z; = // 4 7;

47 e
veex =(¢, " = (L
ID: 2.4.59 L/(,rll‘)( .&// 4/7) /)'7 c‘,(._

27. knstruct a polynomlal func;c?‘ that might have the given graph.
/aLF — L e )) = 4 o
' ot A~«3 oo

—~ bu L 01 e ¥ ST
ErEs S

Choose the correct answer below.

() The function f has a minimum value. /e ¢ 1
' A

What is this minimum or maximum value? (/ o/ /
¢ A

O A 1) =P x+2(x+3)
*IB. fx)=x(x+2)(x+3)
C TR =K -2)(x - 3)

O D. fx)=x*(x-2)x-3)

Answer: B. f(x) = x(x + 2)(x +(3)

ID: 3.1.73

—’///
A Lol PFe” =
.. — (01D O35 T2
x2—8x+32 0 :M = _i :_—EC/_:_/ED_Z

= : Z (1) 2-
Sy b* =
@ Thejsolut:on seta { b. (Us = Z IU"-GY““*‘- /

28. Solve the equation in the

Answer:4-4i 4+4| ) 2\—' /
Y: Lf e ‘fA ey
L' B

ID: 3.3.2 + {;\' ‘!/
= e
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== Fosy T( T %65, E/3 #yT
29. Find the complex z ‘fthe fnllom;{ng polynomial function. Write f in factored form.__ Z1
M:’[ ’l:/;]f]—\ Qvha ’ f - & ~Q

f(x) = =x° = 11x% + 43x - 65 5 - 30 ¢35 — QL
- | —¢ B | 3 C)\ V€ v f&tr."r-f Pt

The complex zeros of f are
(Simplify your answer. Type an exact answer, using radicals and i as nee ed Use-integers or or fractlons for-any numbers in
the expression. Use a comma to separate arlswers as needed. ) y

(»-"' : Use the complex zero -tofactor f. “/ 6« 7 {J

4 50 _.(D)i v Ltr ¢ hi¢ G A f) L) = '(-'/ C= "3
f(x) = :
(Type your answer in factored form. Type an exact answer, using radlcals and i as needed Use integers or fractions for

any numbers in the expression.) / ( C/ _} [/[ G) ¢ (/) (“’2 x,k (6 ‘1’,‘ “/ ,1

L,
Answers 5,3-2i,3+2 ) g(_ i) , X~ 3% 2a
X=5)(x-3+2i)x-3-2i) w6 Y26 -5 L ) ) : ,
< Sl =2 IS
- EHTE T Kns e
ID: 3.3.33 “ 6_“_"{____ = |f g y
—— X_ = Z | S:I 3 =f' Z“’l baadl 3-"-”.4' A
—_—— o ———
30. Findt everticalt honzontal ar@obllque amﬁny"foriﬁ"ﬁllomng rational function. =
=" = 10)( \\ é /( [A o ‘% //") o

— —

QR("FWO p Krlo-po = Gy

(Use a comma to separate answers as needed /

’>/ s /%/way /e///m\ f A 7 /
Select the ?frect choice below.and fill in any answer boxes within your choice.
1) 7 fdxf » f _C_} m"/// i V)= — gl o

(O A. The horlzontal asymptote(s) isfare y =
(Use a comma to separate answers as needed.)

() B. There is no vertical asymptote, ~<-Lt

() B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

() A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

B. There is no obligue asymptote.

Answers A. The vertical asymptote(s) is/are x = -10 .(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 10 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

;f/""C{ A 4‘545 // "o+ U4 A .~/7'" /S &Cmye 45

R, 1Y 77 // s _do RS fheg FAo £
ﬁ7/u UL//L& (57//‘7/// /(\
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31.

350f48

For f(x) = 3x + 5 and g(x) = 3x, find the following composite functions and state the domain of each.
(@) fog (b) gof (c) fof d) gog

(@ (fog)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain offo g is x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo g is all real numbers.
(b) (gof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of g o fis .
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis {x | 3.

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o f is all real numbers.
(d)(gog)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of g o g is {| 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{0 B. The domain of g o g is all real numbers.

Answers 9x+5
B. The domain of f o g is all real numbers.
Ix+15
B. The domain of g o fis all real numbers.
9x+20
B. The domain of f o f is all real numbers.
9x

B. The domain of g o g is all real numbers, \
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G

The function f(x) = 5x - 1 is one-to-one.

(a) Find the inverse of f and check the answer.
(b) Find the domain and the range of fand f~ .

(c) Graph f, f~ 1, and y = x on the same coordinate axes.

-1
@f (=
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

2"3':

16-}

(b) Find the domain of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

}.
).
b,

) A,
) B.
e

D.

The domain is {x|x #
The domain is {x|x =

The domain is {x|x <

The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below ar{d. if
necessary, fill in the answer box to complete your chaice. 0
X =

),
/’IL/

Find the domain of f~ . Select the correct choice below and, if /( r‘/-

The range is the set of all real numbers.
necessary, fill in the answer box to complete your choice.
_—

| A

|
- |
Find the range of f ! Select the correct choice belov(gnd. if
necessary, fill in the answer box to complete your choice.

b/
The range is {yly 0 ,,,,,‘,}'

I
D

. The range is the set of all real numi}i'ers.
- / 7
(c) Graphf, f ! , and y = x on the same coordinate axes. Use X'))
the graphing tool to graph the functions.l

O A
) B.
e

D.

The range is {y[y > IS
The range is {y|y < 7
The range is {y|y #

—
~—

The domain is {x|x >
The domain is {x|x #

The domain is {x|x <

O 0w »

The domain is the set of all real
numbers.

¥

A. The range is {y|y2
B.
c

- Therange is {y|ys

38 0of 48
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x+1
5

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers gt

4
D. The range is the set of all real numbers. . &

ID: 4.2.53

33. Solve the equation. T P Vl»4 l ) \
. — KZ (D e, 2
4~ X+ 10 _gx .ﬂ (2) (Z) / \

(7

The solution set is { '|}.
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.) Z.( z_ l‘éi,
-ZX —+ 2o 7. [
Answer: 4 Q ,2 / /
frpe— "

ID: 4.3.73 : — ¢ A
= &— et > s
X = 5 —

B X T TR
—IX = S &2
w21~3<’ﬁ&(_£0r

— sy = —2o

—sA = T~ X=4

— —
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34. The percentage of patlents P who have survived t years after initial diagnosis of a certain disease is modeled by the

function P(t) = 100(0.8)". —— g f(& é/ /( P / O.F )

(a) According to the model, what percent of patients survive 1 year after initial diagnosis?

(b) What percent of patients survive 4 years after initial diagnosis? /
(c) Explain the meaning of the base 0.8 in the context of this problem. / ) /ék) 0 5 )

(a) According to the model, % of patients survﬁ/ 1 year after initial diagnosis. /1
~ (Typean integer or a-decimal.) /( /) /O(J /0 X) ﬂ)
(b) According to the model, % of patients survivé 4 Jy,ears after initial diag -

(Type an integer or a decnmal@ - ? O /

(c) Explain the meaning of the base 0.8 in the context of this problem. Select the correct choice below and f llin the answer

box to complete your choice. % / - / C,{) /- 0" j /

O A. Aseach year passes, % of the previous survivors take the diagnosj

$- / -
O B. As each year passes, % of the previous year's survivors have s g Z/) / w & é)
O C. As each year passes, % of the total patients have survived. % ?’ ) = /(»t ) /ﬁ’ 37) /,/ ?,/

prsvers W)= %0.76 D=

40.96
B. As each year passes, 80 % of the previous year's survivors have survived.
ID: 4.3.109
= ——— — —— - oy e — —
: . —UelO0H S ——
35. The function rql ) . §C_}
D(h)=5¢ ~018n : -
can be used to find the number of milligrams D of a certain drug thatis.in a patient's bIso\dstream h hours after the drug
has been administered. How many milligrams will be present after 1 hc r? After 4 hours?
After 1 hour, there will be milligrams. (Round to two deC|maI places as needed.)
Atfter 4 hours, there will be ' ' mllllgrams (Round to two decimal places as needed.) /—O /g(‘-f))

R e Co-170)  [D(g)=§ &

243 ZeD LA/ | D/q = 'M{f)/] I
Lp) =g ="(~0.1501) A

e = L s; =293 3‘2@‘/4@




"
#o
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36. Find @the function.
Y - — = el
900 = In(x+2) Xtl—2= 0~ &

The domain of g is A X 7 ’_’Z_/)
(Type your answer in interval notation.)
Answer: (- 2,00) )

ID: 4.4.39 =2, (X7

37¢ Solve the equation. 06
- / 2/ = e
:
Change the given logarithmic equatiorito exponential form. 2 L/: (/ )(‘r‘ / }/{ N//

(Type an equation. Do not simplify.) el bl = sf )(~—f (
The solution setis{ }r /é - yX'f/

(Simplify your answer. Use a comma to separate answers as needed.)
/ 6~ < ¥ X *1“///"'/

Answers 4y 4 1 =24

15 /55— X
4 .
/S~ % X
ID: 4.4.91-Setup & Solve <—f

= __E{__

38. ‘Solve the equatio rite the answer in terms of the !)1atzl.1’ral logarithm. :“—-—\~ ‘
5¢0% =13 g C”(ﬂ X: [ 2 -,}r(/‘i"u) < /L’w '
The solution set is { } ( _/a"’i CC/ — f D
(Type an exact answer. Simplify yourc gn.su&e‘a;( Use a comma tQ separate answers as 9 |
Answer: In 2.6 &“ 6 - g

0.2 ”g' S

0X — 5

T, 0 < R0
0.0x B(e)= K26
0.0¢ (1) = A (2-¢)
0.7¢ = A (2.6
0. ZM—

41 0f 48 . : — T NS TT813020, 404 PV
02 2.
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e " =2 rf_io.m M (.05) = -0-64
. The formula v — (5 /2' ( =
; 2 6 i) ﬁi fé
=0-6

D=25¢ 06N L 2 =
can be used to find the number of milligrams D of a certain drug that is in a patient's bloodstream h hours after the drug
administered-again—What-is thetime

was administered. When the number of milligrams reachUe drug |s b
&4, 209557791 = 4 ¥

finalm1314COCO055sulllljj55YY-Alfredo Alvarez

|

between injections?
OF =
The time between injections is hour(s).

(Type an integer or a decimal rounded to two decimal Iaces as needed )

Answer: 4.21 / ( J i) /

40. Write the expression as a sum and/or difference of logarithms. Express powers as factors. Y V(’VU p I ’_\>
(¥t 5)

2] o — Loy (X(ar7) — Lo
Lx+5) } E (/)—f(v; TOT S ﬁ& /"“ L//

7
log [X(X * )J = (Slmphfy your answer.)

e (x )+log (X£7) — % los (’(*"/ >

Answer: log x+ log (x +7)= 4109{&*5)

F\—,fmw i\/ca (?) (&!j/ﬂ-} Lﬂ)//ﬂ/ .)
O L pdn) = Loyp) A Cos B) ] |
41. Solve the Iogarlthmlcequatlon “/_:p M ( (‘//c r(/(’f“7) —_ é(ﬁ‘f( /f)
Determine the equation to be solved after removing the logarithm. ‘(Aﬁf 7 pr— / 5“

X+t7-7=/s~7

Select the correct choice below and, if necessary, fill in the answer box to coﬁgﬁf""ﬁurel\am% /
(=

log 5(x+7)=logg15

(Type an equation. Do not simplify.)

' A. The solution set is { 2
(Simplify your answer. Type an exact answer. Use a a-to- separatE’EfTs‘WéEas
needed.)

) B. There is no solution.

Answers x+7=15

A. The solution set is { 8 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve

.\‘m‘_,__-———— \I_F
420f 48 1/16/2020, 4:0T PM
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~ ZL/ @’)w. 2y S
log x + log (x - 48) =2 /o> <_ D((X"Y"o’) a M&\/(/\

Determine the equation to be solved after removing Uze logarithm. /

42. Solve the logarithmic equation

/00 = = & P
(Type an equation. Do not simplify.) Om /\/ E 7&2)7)( »-/U o
Select the correct choice below and, if necessary, fill in the answer box te,complete your choice.
O X T2)(x=59
A The solution set s { m{, 2= 0 oK N—Su=o

(Simplify your answer. Tyge an exact answer Use a (ry ;é to separate answers as
needed.) A/ B ==y — I -Y*" (,r-—f S'Z) - (Jr y ¢

7 B. Thereis no solutlor( P\\,—/} oAU C /76 C LL

Answers x(x ~ 48) = 102'_-#' é é}(-—{) — [L:,)(_»& %ZQ 3 _
A. The solution set is { }(C% "‘2) . é‘-’ (’h g)'i}_ L @4D

(Simplify your answer. yg__anw a mma to separate answers as neetied.)
Los(5o)— Cos (S0—% ) = L
ID: 4.6.17-Setup & Solve (/aj (SV)~FClus (2) = 2— 6——27 z/g/

43. Solve the following logarithmic equation, Z U/ (9 /\/'7‘ /) @ (Xr—-— 7) = f r(,vfl ;
log (4x + 1) =1+ log (x - 9) NC Vﬁr{ [ '

0 nj
Select the correct choice below and, if necessary, (

s .uxé-fy\

nswer box lete your choice. 2

) A. The solution set is { } /47 .': ,(»-éi

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.

() B. There is no solution. - 9“){’—;/*
& £~ T

. ({/ S5 ]
Answer: A. The solution set is {| } [0 ()(—»— ﬁ") = [ (?K?’/) /'}7‘%’6’(7

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed. /
/06X —Fo =YX+ / E
DR foy-go#be T CHAH/ +52
/0K T Y rF/
JOxX X = (1T X ~
X /7/4‘( 1) /—Péf)/ : 2{6/
L@J (f.6e6ec) * L)(ﬁ”

Gov
O‘Z'é’cff A k/‘l/ /

O/j/) \

43 of 48 1/16/2020. 4:01 PM
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Jr" 44. Solve the following expdnential equation. Express irratiopal Solutions in exact form and as a decimal rounded to threes J ,/L

M (54°6)- /,,,/m/ e

X~6 _ -
& =gy -6 ) b (7) = A E5)
What is the exactansw -and, if necessary, fill in the answer ox to complete your
choice

/éi,

(S|mpI|fy your answer. Type an exact answer. /M (é?/
zvz (& / ‘
/4

4l'places? Select the.correct cho be w and, if necessary, fill in the a swer

¢s ) ’
)(-(; ,6/ plees 16

r.or decimal rounded tothree acuma laces as
- _n(e” J §
¢ o 7/

b ]

] .(Simplify your answer. Type an exact answer.)

— fa ﬂd‘*)

.....

() B. There is no solution.

What is the answer rounded to three deci
/ box to complete your choice.

) A. The solution set is {

(Simplify your answer. Type an lnte
needed.)

() B. There is no solution.

Answers A. The solution set is §

A. The solution set is 7
(Simplify your answer. Type an intgger or decimal rounded to three decimal places as needed.)|

ID: 46.41
- X, == 4 '
45. Find the amountthat results from the glven mvastment > B D) )
—2N P < SU ]

_\\
$300 Ihvesteﬁt 7% cpmpounde(uarteriy aﬂer a perm@f 4 years f . /

> — v =,07 f

— .f/ V_ - 7 v, g /

After 4 years, the investment resuits in $ e ‘." /

(Round to the neares(csnta&needed ) B /‘J £ /(/ z }/’ = CQwﬁ/lerG
Answer: 395.98 /}‘ = _.:?‘ 4;/[5,—/ é = ‘/ =z y(’a e

or AZ200([7 ”) [

Ao (4 ,,z/ —
2392 (1 - ”)//J\

A/-ﬁjﬁs I 7TV

——
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46. How lon i nvestment od ble in value Ffrtls invest 14% compounded monthly? Comp
IS 29002 f0 ([ L) =0 e (A) o Fek s fH+4

At 14% compounded monthly, the |nvestment
(Round to two decimal places as needed.)

doubles ir(:{)éu‘t'g ([‘T ) ];aars (?a 4, ( o /)
. 111777 Q//M‘/ jo e

At 14% compounded continuously, the investment doubles in about 2~ ___ye”ﬁs /v o)
_—
(Round to two decimal places as nee ?2_)

2 = Ko (1)

R 12¢
Al Z e
nswers:z: F ([“r‘ ) P (() T e/¥L /ﬁl/_/

/ﬁf//z) = SN B TsTsT 2T € - M
)T /9L '
/27 c( c,{ - .,/ y4 @___y

47. _How many years will it take for.arinitial i uesm’:?m f $1 0, 000 to grow to

ded ti sly. = == . 7
(_compounded continuously. (/} 3_3 % (/4 5_) Z”? ( G’ /f.()
It will take about years for the mvestment tog to $ ﬂ
(Round to two decimal places as needed.) = e/l /‘M (/ } It //'é ’JH/?/ e

reven 350 /oo = f0000 & 6/(? b (l.s)= /(&
nswer: 3. _/6'(11»_)—-’ '19_(’&"— Z (/ S):

E
;0J o L Og =

.l .
gLl ; CIEO56537 =€)
ID: 4.7.41 [e S = c //'('—/ 4] Z(/ y)____‘//é, /67

; w/ | (3 6G <= ¢ / E P

W
48. The population of a colonyGJ_'fmo _B:‘Ioes obeys the law of uninhibited growth,
through (c).

n(2) (/v*""'
ID: 4.7.35 /ﬂ*’/d) ~//é"’z’//~’—'/y _‘

W —

se this information to answer parts

ZICa 4

(a) f N is the population of iﬁé'colony"'and t is the time in days, express N as a function of t. Conslder Ng is the original
s ountatt=0and k £ 0 is a constant that represents the growth rate.

N(t) = (Type an expression using t as the variable and in terms of e.) | Z_ [C o
S ] — & /
| (b)}he pulation.of a colony of mosquitoes obeys the law of uniphibited growth If therefare 1000 mosqmtoes initially and f
'| there QW what is the size of the colony af@ days? — /
Approximately mosquitoes. [

(Do not round until the final answer. Then round to the nearest whole number as needed.) l
Fo i [ I"'. -
=), / i il
C (cmuw long is it until there are 50,000 mosquitoes'.{ /— (C €& j
/
f

'A‘béut_ days.
(Do not round untjl.the final answer.-Then.round to the ne nha% ed)

=) M W, C;/(C
\ 6.1@@:@ /f/@/ - W& P
‘ ID: 4.8.5 /0[/ /&00 C)k(l)
/700 = /oo
/900 = /000 &

Answers N ¢ kt
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A (la9)=k —
, 64 (8535062 j/,

691854 =k ,>,&)M

e CHITSY £
/Vé = U08'S C/ 6o(75y (3))

/‘ .

LosD LV

/V// /000 G;/l( ,Qg/irv(%))

N[3) < :975 , QOé3re \__//
)~ ¢

@ 6 Zrif’)/?“““/

= 6?/ﬁ{k{+ e
& </000 .
@ uq grreere—
( 607 —

So0vo = /000 & WAV iz T

Soun _ fds &

/C)JJ

[ESirss
0= ), ¢viasw |

/é»T/S’Z)) o 6yl ¥5¢ {/&/?/
L (s0) = 691777 (1)
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/
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49. The half-life of carbon-14 i 5600 years. If a piece of charcoal made from /hé c:;h e shows onfy 64% of the
L ¥4

carbon-14 expected in livin t r, when did the tree die? Z /
) yaee %)
The tree died about years ago.

£y /00 / z
(Do not round until the final answer. Then round to the Qarest whoie num er)J'Z'» / 6 V/) fé{
..———éy x ) f ) %o / A (4 4. SC/W

Answer: 3606 /uo / 7 é ;/ Z ;-.
r

e f ) »/Zn/l)"‘” ) i 2 "'““';é

LY = o

————
50. - After the release of radioactive material into the atmosphere from a, m;cdear power plant in a country % 1985, the hay i (
- 4_thaficountry was contaminated by a radioactive |sotop€Balf life 5 day_l If it is safe to feed the hay to cows whefi 11% of \
”the dioactive isotope remains, how long did the farmers need to wait to use this hay? & >

days” Gri/to Jbe sat/ {<ered the hay to

'( Z / The farmers needed to wait approximately
(Round to one decimal place as needed.) ¢~

N=rmol(h) Sc];
AT S VI (%) ¢ “{é:—'/—'——
/(,U /uu A ——/‘\ / bli

D:4821 , /] = (/L)_uﬁ’é:%

S’I Solve m&§ystem of equations. If the system has no solution, sa&atTls incons stent.

Answer: 15.9

T 1 ém(~—z~7 = ¢ Wm _
{ 1: y_zz 20X —+ 2,*-; 4y 2755 —_ 97 -
X+y = ¢
- 294 +0= %5 = e

Select the correct choice below and, if necessary, fill in any answer boxes within your choigé

(' A. The solution of the system is x = andy= .S WS 7 N
(Type an integers or simplified fractions.) : é/— M___ Z 7 s y
() B. There are infinitely many solutions. Using ordered pairs, the solutlon ¢an be written as

{xy)1x= ., yany real number}. J (2)— 27 (= K7/
ed.

o {27

(Simplify your answer. Type an expression using y as the vanab/lla as nee
3 = <7 AT 5

T
i
(9]

. The system is inconsistent.

Answer: A. The solution of the system is x = 2 andy= — iy B — (/
(Type an integers or simplified fractions.) /
L — /l__
ID: 6.1.32/3/-' L
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52. Solve the given system of equations. If the system has no solution, say that i Ks lonmstent

A, Crh-

2Z A ,j_’l?_a g LA —ey '{‘
] 6= L 3 t {
Al

2. { [ -2
Select the correct choice below and-fillHr-any-answerb

x—-2y+3z= 11

2x+ y+ z=-3

=3x+2y-2z= -7 -3 2 —2 Sy

in your choice.

O A. The solution is x = Y= ,andz=
integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered triplets, they can be expres
{xy.2) | x= Y= __,zany real number}.

(Simplify your answers. Type expressions using z as the variable as needed.)

(O C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xyz)|x= .y any real number, z any real number}.
(Simpilify your answer. Type an expression using y and z as the variables as needed. } ( ) Ze
/ -y Lem

() D. The system is inconsistent. Z/]//)/ Mc///y /’74/ / rFv-

Answer: A. \3){

The solution is x = -3 andz= i . (Type.integers o"EWNphﬁad. ‘7
fractions.) r . /( a1> 3 ] (‘// 7/ 'LZ) f\. \)
ID: 6.1.45 4;-—3 Z) /

- 2Z——

53. Fmdthesumofthesequence LB (” "Sj _(, (3(2) Sj .(_(3(3) ;j ~+ (3 {?) 'S‘)

s o e (3($)—5)
§(3k 5) /?"S_)'('(J"S)-f/f"“f)”f //Z-uc)_f //;\;) F((S P

26:(3k 5)= Y+ (1) f'(cf) 7'(7) * (/o ?/\\(YE{’—S)

%) -
- oKy XD — (13 L I
Answer: 33 5( = A \iﬁ‘_b’u \40
M/]7‘/// \l’ SMV‘"' e de‘\E‘jr/g)g oé,/

ID:71.73

54. Expand the expression using the binomial theorem.
(x+3)°

(x+3)° =

Answer: 5 1 155% 1+ 90x3 + 270x? + 405x + 243

ID:7.6.17
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§5. Find the real solutions of the equation.
2+4/3x-2=x -""'/;)

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

© A. The solution set is { ({/ 24— ) (’r "2/

(Simplify your answer. Use a comma to separate answers as needed,

O B The solution is the empty set. 3)(,,_ Z ()( 4 ) ,(__ L )
Answer: A. The solution set is { b ZX'— Z— = ’\/ Z/—— Z)(‘f L/

(Simplify your answer. Use a comma to separate answers as needed.)

342 = XZ'-W”“/
ID: A.8.55 O J( —C XYy —2x 1
Oz vt—ox+g
&= D(x—6)
o K—6 =<
OA 6 +GC- UF(

-1 = X—1-

me < (1)
2+f2-2 < |
2+ < |
2/ =< |

et /¢
2+ Y T G
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